[OPERATIONS ON LARGER NUMBERS]

Chapter -5
Operations on larger numbers

WORKSHEET

1. Fill in the blanks

a. Product of 300 and 500 is

b. The result of multiplication is called

c. When we add 1250, nineteen times the answer is

d. x 500 = 10,000

e. 3005 x = 0.

2. Choose the correct answer:

i) The product of 1 and any number is :

a) One b) The number itself c) Zero d) Double of the number

ii) You know the cost of 10 objects. To find the cost of 6 objects, you will:

a) multiply with 10, then divide by 6  b) divide by 10, then multiply by 6
c) divide by 6, then multiply by 10 d) add 10, subtract 6

iii) What is 3825 added to itself 25 times ?

a) 25+ 3525 b) 3825 +25 c) 25 x 3825 d) 3825-25

iv) If one banana cost X6, the cost of one dozen bananas is:

a) %72 b) 230 c)T60 d) X6
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v) Zero subtracted from any number is:
a) 0 b) same number c) unknown d)1
3. The sum of two numbers is 9,78,543. If one number is 3,89,654, find the other number.
4. What should be subtracted from 3,40,900 to get 12,908
5. A factory makes 8500 toys on a daily basis. How many toys will it make in a week?
6. The sum of two numbers is 60000. If one nhumber is 3535, find the other number.

7. The cost of 1 pens is X175. What is the cost of 8 such pens?

3k 3k sk ok ok ok ok ok 3k 3k 3k ok ok %k k ok ok

ODM Educational Group Page 2




